
Manufactur .alva.co.za

2 BURNER ALVA

 MONDO 



BBQ ASSEMBLY

1



Finally

2



3



4

PARTS LIST BBQ

ITEM

1

2

3

4

5

6

 NAME

LID

HANDEL

BBQ

DRIP TRAY

COOKING GRILLS

SHELVING



PARTS LIST TABLE/ BASE

5



PARTS LIST TABLE/ BASE

ITEM

1

2

3

4

5

6

 NAME

TABLE

CONDIMENT TRAY

FRONT COVER

CYLINDER HOOK

LEFT REAR LEG

LEFT FRONT LEG

7

8

9

10

11

12

RIGHT REAR LEG (WITH AXEL HOLE)

RIGHT FRONT LEG (WITH AXEL HOLE)

BASE

BOLT

WHEEL

NUT

G SPLIT CLIP

6



ASSEMBLY INSTRUCTIONS

7



                         

                        

M6 X 50mm bolt (M)
and Nut (N) x4

Spanner (R) x1

Allen Key (Q) x1

STEP 1

8

Turn the TABLE (1) upside down onto a stable flat surface.
Insert the four LEGS (5),(6),(7) and (8) as shown so that the legs all lean 
outwards.
The RIGHT SIDE LEGS (7) and (8) with the axle holes need to both be on the 
same side as indicated 

Secure each leg with one M6 x 50mm BOLT (M) and one M6 NUT (N).
DO NOT fully tighten yet.



STEP 2

                         

                        

M6 X 15mm bolt (ML)
x4

9

Fit the BOTTOM BASE (9) using four M6 x 15mm BOLTS (L).
Once all bolts are in place, fully tighten using a Phillips Head screwdriver.
Now tighten the bolts and nuts from the previous step as well. 



Thread the AXLE (I) WHEEL (H
Then through a SPACER (O)
SPACER (O WHEEL (H)

SPLIT PIN (P) HUBCAPS (G) to the 

                         

                        

Spacer (O) x2

Split Pin (P) x1

STEP 3

10

Thread the BOLT (10) through the wheel (11) and spacer (E) and leg of the
table and secure in place with split pin (G) 

SPLIT PIN 



                         

                        

M6 x 20mm BOLT 
(S) x4

Allen Key (Q) x1

STEP 4

11

 M6 x 
15mm BOLT (S)

ALLEN KEY (Q).



CONDIMENT TRAY (J)
Screw the CYLINDER HOOK (K)

                         

                        

M6 x 20mm BOLT 
(S) x4

Allen Key (Q) x1

STEP 5

12

CONDIMENT
TRAY (J)

into table  



STEP 6

13

LEG LOCKING



STEP 7

14

AFTER SALES SERVICE

MANUFACTURED AND DISTRIBUTED BY
Alva Marketing (Pty) Ltd
P.O. Box 30014
Tokai, 7966
Tel: 021 442 1540
E-mail: info@stingray.co.za
www.alva.co.za
    @StingrayGroupSA
     www.facebook.com/AlvaGas

TOLL FREE NUMBER 086 100 ALVA (2582)

      


